

Chong, see below:

$$\begin{aligned} \sup_{\{\alpha: |\alpha| \leq 1\}} \sum_i \epsilon_i \left( \sum_j \alpha_j K_{ji} \right) &= \sup_{\{\alpha: |\alpha| \leq 1\}} \epsilon' K \alpha \\ &= \sup_j |(\epsilon' K)_j| = \sup_j \sum_j K_{ji} \epsilon_i \end{aligned}$$

So if  $\epsilon_i$  are all positive, this is correct.

If  $\epsilon_i$  are all negative, then it should be  $\sup_j [ -\sum_j K_{ji} \epsilon_i ]$

From:

<https://www2.math.binghamton.edu/> - **Binghamton University Department of Mathematical Sciences**

Permanent link:

<https://www2.math.binghamton.edu/p/people/qiao/correspondence>

Last update: **2015/03/24 13:46**

